2008-2009 6TH GRADE CONTEST

Answers

30.

Of the multiples of 7 that exceed 7, how many are factors of 700?
A) 99 B) 8 Q7 D) 5

30.

31.

If points A through I are spaced evenly ,_ .
on the number line, then the distance 4 B Cc DEFGH I
from B to H is twice the distance from

A) AtoF B) EtoG
C) CtoE D) DtoG

32.

I ride my bicycle exactly

50 km every other day. In
15 weeks, I ride at most

A) 2250 km B) 2600 km

C) 2650 km D) 3000 km

33

V2XAX8 X V8X8 =
A)64 B)32 Q16 D)8

31.

32.

33.

34.

If my school has four times as many girls as boys, then the
number of girls minus the number of boys could be

A) 2013 B) 2011 C) 2009 D) 2008

35.

Of the first 100 whole numbers, ?_ use the digit 2 at least once.
A) 20 B) 19 C 11 D) 10

35.

36.

If I write all 26 letters of the English alphabet in alphabetical
order 62 times in a row, then the 806th letter [ write will be

A) A B) E Qv D) Z

36.

37.

If the ratio of my age now to my age 6 years ago
is 3:2, then my age 4 years from now will be

A)18 B 20 22 D) 24

38.

After each of 50 cards is marked with a dif-
ferent whole number from 1 through 50, the

cards are then paired at random. At most how
many of these 25 pairs have a sum of 257

A) 1 B) 6 C)12 D)4

39.

The sum of the whole numbers from 1
through 100 is 5050. What is the sum of
the whole numbers from 1 through 200?

A)5150 B)10100 C) 11050 D) 20100

37.

38.

39.

40.

In how many different ways can six identical coins be distributed
among Al, Bo, and Carl so that each gets at least 1 coin?

A) 10 B) 9 Q) 8 D) 7

40,
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2008-2009 Annual 6th Grade Contest

Tuesday, February 17 or 24, 2009
Instructions

® Time You will have only 30 minutes working time for this contest. You
might be unable to finish all 40 questions in the time allowed.

m  Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, should be commended!

= Format and Point Value This is a multiple-choice contest. Each an-
swer is an A, B, C, or D. Write each answer in the Answers column to
the right of each question. A correct answer is worth 1 point. Unan-
swered questions get no credit. You may use a calculator.

Copyright © 2009 by Mathematics Leagues Inc.
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